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-F4 >=<74 E?>E>5=4 64>E=>6<FL 64E 
=4 F6>DG5EF6>. �D< D45>F5 =44 ?D>-
5>F>< D544>F>DO 6E5744 ?D>65DONF 
4>FG4?L=>EFL <=D>D<4F<< < ?D54N-
O6?ONF E4<O5 6OE>><5 FD55>64=<O 
> >4G5EF6G D>F>7D4D<= < >D>D<?5-
=<N <744=<O.

�O 74D4=F<DG5<, GF>:

" >=<74 =4?<E4=4 ?D>EFO< < 4>EFG?-
=O< O7O>><;

" E>45D6<F ?>4D>5=O5 >?<E4=<O 
?D>F5EE4 D45>FO, ?D4>F<G5E><5 
E>65FO < 5>?LL>5 >>?<G5EF6> D>-
F>7D4D<=.

� >464>= <>45?< 44= QR1>>4, ?> >>F>D><G 6O 

E<>65F5 ED47G ?5D5=F< =4 6O>D>=>< 6 46GE 

64D<4=F4E: 6 >D<7<=4?L=>< D47<5D5 < 6 D>D1

<4F5 �4
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,<FL <=F5D5E=>! �56GL><, ?D>L54L<5 >5GG5=<5 =4 >GDE4E >D>=>< 

< L<FLO, D4EE>47O64?<, GF> MF> E>55< ?>76>?O5F << D4EE?45?OFLEO 

< >F6?5>4FLEO >F ?>6E54=56=>= EG5FO. �><=<F5, GF> L<FL5 4  MF> 

?D5645 6E57> G4>6>?LEF6<5, 4 =5 >G5D54=>5 646=>5 45?>. �>MF><G 

=5 >F=>E<F5EL E?<L>>< EFD>7> > F><G, GF> L>6 6OL5? =5D>6=O<, 

< ?>76>?O=F5 E555 GG<FLEO =4 >L<5>4E. 

�O E>F<<, GF>5O 6O >FEFG?<?< >F =5G>>E=<F5?L=>7> E>5?N45=<O 

EFD>7<E ?D46<? < 64>E=>6<?<EL >D54F<6=O< ?>4E>4>< > ?>L<6G 

>4564O. �5 674OE4=F5 ?D< 6<45 6O>D>5>! �O =4GG<< 64E L<FL 

F4>, GF> ?57>> 5G45F 4465 =>6<G>4<. �4L 4><4L=<= >GDE >D>=>< 

< L<FLO ?><>65F 64< 557 >E>5OE GE<?<= E>744FL =5?>6F>D<<O= 

74D45D>5!

��'����� ,�&,!

�?MD �4EEL5                                     �>=<>4 �5F5D

,,�� �����!
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�5D54 F5<, >4> E45?4FL ?5D6O= EF56>>, 6O ?>7=41

>><<F5EL E >E=>6=O<< ?D46<?4<< >D>=>< < L<FLO, 

G7=45F5 > F><, >4><5 <=EFDG<5=FO =5>5E>4<<O 

6 D45>F5. 

� >=<75 E>5D4=O E>65FO ?> 6O5>DG F>4=<, D5>>1

<5=44F<< ?> ?>>G?>5 L65==>= <4L<=O < <=>7> 

4DG7>= ?>?57=>= <=D>D<4F<<. % =4<< 6O ?D>=451

F5 ?GEFL >F =>6<G>4 4> >?OF=>7> <4EF5D4.
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��%&$'���&/
4.(�=EFDG<5=FO 4?O E=OF<O <5D>>. �?O 

E=OF<O <5D>> =G6=4 E4=F<<5FD>64O ?5=F4 

(½ E. 17) <?< >5OG=4O ?<=5=>4, ?GGL5 4?<==4O 

(50360 E<) < ?D>7D4G=4O. %?5F<4?L=4O ?<=5=>4 

4?O ?MG6>D>4 < >6<?F<=74 <?< FD5G7>?L=<>- 

FD4=E?>DF<D ?><>7GF 64< 6O>D><FL 45F4?< 

=4 F>4=<.

5.(�>DF=>6E><= <5? <?< <4D>5D. 'F>5O 

?5D5=5EF< >>=FGDO =4 F>4=L <?< 4DG7>= <4F5D<-

4?, <E?>?L7GNF ?>DF=>6E><= <5? <?< <4D>5D. 

�E <>6=> ?57>> G44?<FL E F>4=<, ?>EF<D46 65ML 

<?< >5D45>F46 55 GFN7><. �F45?L=O5 GG4EF>< 6O 

<>65F5 D47<5G4FL 5G?46>4<< (=4?D<<5D, ?5F?N 

4?O ?G7>6<FO), >>?<D>64?L=O< D>?<>>< <?< 

>>?<D>64?L=>= 5G<47>=. �?O MF>7> F4>65 <>6=> 

<E?>?L7>64FL ?D>7D4G=GN >4?L>G <?< ?4?<D>E-

=GN 5G<47G.

6.(�>?>?=<F5?L=O5 <=EFDG<5=FO. �E?4DO64-

F5?L L6>6 ?><>65F 64< D4E?>D>FL =5G44G=O5 

L6O. �E?>?L7G=F5 GFN7, GF>5O ?>7?44<FL F>4=L, 

D47GFN6<FL <?< 74GFN6<FL ?D<?GE>< <?< >5D4-

5>F4FL L6O. $G5<?L=<> 4?O 55=>< ?><>65F 

<77>F>6<FL >>EGN 55=>G <7 ?N5>7> <4F5D<4?4.

�464=F5 ?>7>6>D<< >5 <=EFDG<5=F4E, >>F>DO5 

=5>5E>4<<O =4< 6 D45>F5.

1.(�7?O. �?O DGG=>7> L<FLO (=4?D<<5D, 4?O 

?D>>?44O64=<O L6>6, ?D<L<64=<O ?G7>6<F 

<?< 6OL<6><) 6 ?5D6GN >G5D54L =5>5E>4<<O 

<7?O. %5=G4E <>6=> >G?<FL <7?O D47=>= 4?<=O 

< F>?M<=O.

2.(�>DF=>6E><5 5G?46><. �?O L<FLO 64< F4>65 

?>=44>5OFEO 4=7?<=E><5 5G?46>< 4 =4?D<<5D, 

GF>5O 6EF46<FL M?4EF<G=GN ?5=FG <?< D57<=>G 

6 >G?<E>G. �O64NF 5G?46>< E> EF5>?O==O<< 7>-

?>6>4<< < 557 =<E. �?O F4><E 45?<>4F=OE F>4=5=, 

>4> L5?>, ?>4E>4OF F>?L>> >G5=L F>=><5 5G?46><. 

�E?< 64< =G6=> 74>D5?<FL >D4= ??>F=>= F>4=<, 

=4?D<<5D E>54<=<FL M?5<5=FO ?D< ?>E>GF=>< 

<?< 6>= ?>G=>< L<FL5, F> ?GGL5 <E?>?L7>64FL 

E?5F<4?L=O5 746<<O 4?O F>4=<. �=< ?>4E>-

4OF < 4?O D<>E4F<< >>6<, F4> >4> =5 >EF46?ONF 

E?54>6. �<5EF> 746<<>6 <>6=> 5D4FL >4=F5?OD-

E><5 E>D5?><. �E?< 6O 74=<<45F5EL >6<?F<=7><, 

6>E?>?L7G=F5EL E?5F<4?L=O<< 4=7?<=E><<< 

5G?46>4<< 4?O >6<?F<=74 <?< 5G?46>4<< E 7>-

?>6>>=, >>F>DO5 =5<=>7> 4?<==55 >5OG=OE.

3.(�=EFDG<5=FO 4?O D4E>D>O F>4=<. �?O 

D4E>D>O F>4=< <E?>?L7G=F5 ?>DF=>6E><5 

=>6=<FO. �GGL5 ?D<<5=OFL <E F>?L>> 4?O 

D4E>D>O F>4=<, <=4G5 >=< 74FG?OFEO. �5OG=O5 

=>6=<FO =G6=O, GF>5O >FD574FL ??4EF<>>6GN 

<>?=<N (½ E. 37). �?O D45>FO E =<F>4<< 6O5<-

D4NF E?5F<4?L=O5 =>6=<FO 4?O >5D57>< <?< 

>5OG=O5 =>6=<FO. $<7GD=O5 =>6=<FO- 7<7747 

<>6=> <E?>?L7>64FL >4> 6 45>>D4F<6=OE F5?OE, 

F4> < 4?O >5D45>F>< ED574 F>4=5=, >>F>DO5 

=5 E?<L>>< E<?L=> >EO?4NFEO. �?O >>D>F><E 

?DO<OE D47D57>6 6<5EF> >5OG=OE =>6=<F 6O 

<>65F5 67OFL 4<E>>6O= =>6. �>?L7G=F5EL 

4?<==>= ?<=5=>>= 4 < F>744 ED57 5G45F D>6=O< 

< 4>>GD4F=O<. �5 745G4LF5 ?>4?>6<FL ?>4 <4F5-

D<4? >>6D<> 4?O D4E>D>O, GF>5O =5 ?>F4D4?4FL 

?>65DE=>EFL EF>?4 < =5 74FG?<FL ?576<5.

�%
��
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11



�4G5EF65==4O L65==4O <4L<=4 (E?564) 4  

64L 7?46=O= ?><>M=<>! �E?< 6O ??4=<DG5F5 

<=>7> L<FL, >5O74F5?L=> ?>>G?4=F5 >65D-

?>> (E?D464).

�E?< 6O E>F<F5 >G?<FL L65==GN <4L<=G, F> ?D<-

E?GL4=F5EL > =4L<< E>65F4<.

���'���� ,����'. ��,��'
�5OG=> <O E>65FG5< ?>>G?4FL <4L<=G 6 E?5-

F<4?<7<D>64==>< <4747<=5. &4< 6O =5 F>?L>> 

?>?GG<F5 >>=EG?LF4F<N ?D>D5EE<>=4?4, => < ?>-

?D>5G5F5 55 6 D45>F5. �E?< ?>E?5 ?>>G?>< G 64E 

6>7=<>=GF 6>?D>EO, 6O E<>65F5 >5D4F<FLEO > >>=-

EG?LF4=FG, >>F>DO= ?><>65F 64< D5L<FL 6>?D>EO 

?> D5<>=FG <?< F5E=<G5E>><G >5E?G6<64=<N.

' =4E G4EF> E?D4L<64NF F5=G E>D>L5= L65==>= 

<4L<=O 4?O =>6<G>>6. �4 MF>F 6>?D>E E?>6=> 

>F65F<FL 4 G >464>7> 5EFL E6>< 74?D>EO < D<-

=4=E>6O5 6>7<>6=>EF<. �>>G?>G L65==>= <4L<-

=O <>6=> ED46=<FL E ?D<>5D5F5=<5< 46F><>5<-

?O. % >4=>= EF>D>=O, 5EFL <>45?< E <=>65EF6>< 

=>6OE DG=>F<= < 6OE>><< GD>6=5< >><D>DF4, 

=> 74 =<E =G6=> >F44FL ?D<?<G=GN EG<<G 45=57. 

% 4DG7>= 4  EGM5EF6GNF =54>D>7<5 64D<4=FO, 

>>F>DO5 F>65 E>D>L> D45>F4NF. �5D4F<F5 

6=<<4=<5 =4 F>, GF>5O 6=GFD< <4L<=O =5 5O?> 

??4EF<>>6OE 45F4?5=, F>?L>> <5F4??<G5E><5. 

�E?< 65 64< =G6=O <>45?< E 4>?>?=<F5?L=O<< 

?D>7D4<<4<< (45>>D4F<6=O<< EFD>G>4<< <?< 

6OL<6>>=), F> >=< 5G4GF EF><FL 4>D>65, < 65DE-

=5= F5=>6>= 7D4=<FO ?>GF< =5 EGM5EF6G5F.

%�$�,�/ ,�����/ ��,���
�E5 L65==O5 <4L<=O 6O?>?=ONF >4=< < F5 65 

>E=>6=O5 DG=>F<< 4  =5646=>, MF> <>45?L, 

>G??5==4O ?> E><4>5, <?< 64D<4=F >?4EE4 ?N>E. 

� >E=>6=>< D47?<G4NF <5E4=<G5E><5 < M?5>-

FD>==O5 L65==O5 <4L<=O. � ?5D6>< E?GG45 6O 

6DGG=GN D57G?<DG5F5 EFD>G>G, 6> 6F>D>< 4  74 64E 

MF> 45?45F >><?LNF5D. �>?55 ?>4D>5=> DG=>F<< 

L65==OE <4L<= >?<E4=O 6 <=EFDG>F<OE ?> M>E-

??G4F4F<<.

���$���
�= =5 E?G6<F 74<5=>= EF4=44DF=>= L65==>= 

<4L<=O, 4 4>?>?=O5F 55. % ?><>MLN >65D?>>4 

<>6=> >5D454FO64FL ED57O F>4=< EFD>G>>= <?< 

EL<FL 6<5EF5 464 >FD574 M?4EF<G=>= F>4=<, ?D< 

MF>< <E ED57O 5G4GF >4=>6D5<5==> >5D574FLEO 

< >5D454FO64FLEO L6><. �D><5 MF>7>, =4 >65D-

?>>5 <>6=> >5D45>F4FL >D><>G ??>E><< L6>< 

(½ E. 160) <?< 6O?>?=<FL D>?<>>6O= L>6, >>F>-

DO= ?D5>D4E=> E<>FD<FEO =4 ?D>7D4G=OE F>4=OE, 

L5?>5 < L<D>=5. �=>7<5 =4G<=4NM<5 L65< 

E><=564NFEO 6 ?>>G?>5 >65D?>>4. �O E>65FG5< 

?D<>5D5EF< >65D?>>, 5E?< 6O G4EF> D45>F45F5 

��''��� ,����'. ��,��'

�E?< 6O F>?L>> =4G<=45F5 L<FL, 64< =5 =G6=4 4>D>74O <4L<=4 <?< F5?O= 4DE5=4? D47=OE <>45?5=. 

�E5 6O>D>=><, ?D54?>65==O5 6 >=<75, <>6=> EL<FL =4 >5OG=>= L65==>= <4L<=5.
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�E5744 <E?>?L7G=F5 F>?L>> >D<7<=4?L=O5 

L?G?L>< (5), >>F>DO5 ?>4E>4OF 4?O 64L5= 

<>45?< L65==>= <4L<=O.

 ¬ >65D?>G=4O ?4?>4 5G45F =574<5=<<4 ?D< 

>5D45>F>5 >D><>< (½ E. 25).

 ¬ E ?><>MLN ?4?>< 4?O DGG=>= 6OL<6>< 

< E<5FO64=<O (4) 6O E<>65F5 6OL<64FL 

(½ E. 131) =4 F>4=<.

 ¬ ?4?>4 4?O 6L<64=<O >4=F4 ?><>65F 64< 

6L<FL >4=F (½ E. 112)

E M?4EF<G=O<< F>4=O<< 4 465DE<, DGF5D>< 4 

<?< ??4=<DG5F5 >5D454FO64FL <745?<O E?>6=O-

<< 45>>D4F<6=O<< L64<<. �5<5F>G=O5 L6O 

(½ E. 160), 6O?>?=5==O5 =4 >65D?>>5, E<>FDOFEO 

4>>GD4F=> < 6O?>?=ONFEO =4<=>7> 5OEFD55.

�65D?>> =5 E?54G5F ?GF4FL E >>65D?>>><, E ?>-

<>MLN >>F>D>7> <>6=> <454?L=> >5D454FO64FL 

ED57O M?4EF<G=OE F>4=5=.

��%�%%'�$/ ��/ ,����/% ��,��
� =<< >F=>EOFEO <7?O, L65==O5 ?4?>< < L?G?L><.

���/ ��/ ,����/% ��,��
%>6D5<5==O= DO=>> <7>5<?G5F D47=O<< 64D<-

4=F4<< <7? 4?O L65==OE <4L<= (6)

 ¬ =574<5=<<>= O6?O5FEO G=<65DE4?L=4O <7?4 

(7 80). �D><5 =55 EGM5EF6GNF <7?O D47?<G=>= 

F>?M<=O 4  >F 60 (F>=><5) 4> 100 (F>?EFO5). '5< 

F>=LL5 F>4=L, F5< F>=LL5 4>?6=4 5OFL <7?4.

 ¬ 4?O FD<>>F46=OE F>4=5=, =4?D<<5D 465DE<, EG-

M5EF6GNF <7?O E >>DG7?O< >EFD<5<. �=< F4>65 

=47O64NFEO <7?4<< 4?O 6O74=>7> FD<>>F464.

 ¬ 46>= =4O <7?4: ?>4E>4<F 4?O EFD>G>< < ?>4DG5-

>< M?4EF<G=OE F>4=5= (465DE<, DGF5D).
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